OWARAN—+I—X RAVRSUXFUTR (BEvrUIE) BEEHA 8H19H (RI4RTHH)

v  BAEI FiEF—L% WB—hA—H— Rd1 Rd2 | Rd3 | Rd4 | Rd5 | &5t | IEfz
1 22055 NAIL=00) F—L CRG 2461 11| 6461 4|14 12|2461 11 38 14
2 f=IFL TSR kali
3 | IRKHE | nMhIL—Y09F-L |Van Speed| 2 0 2 | 20fi
4 ITH iE TSR INTREPID |34 10| 54 6 |34z 10|14z 12 38 1452
5 [z 3 RSTHYF TONY | 641 4 2 2 6 4 12 74iL
6 | FH & Z7=——*%vX TONY 2 2 4451 8 12 74
7 L = MYCARS ARROW |14 12|14 12 24 441
8 | FEFE Bus MYCARS ARROW 2 2 2 2 8 1241
9 | Bg 187 MYCARS ARROW 341 10| 641 4 2 16 54
10 NI = NATIL=Y0) F—L T
11 1R & MYCARS ARROW 241 11 11 9fiL
12 | # Bz MYCARS ARROW
13 Bl = RSTHYF CRG 2 2 4 184
14 [IL&ZA FA #wEL—20 TONY 541 6 6 | 1541
15 | KB &g | nvhIL—Y09 F-L TONY 0 0 44 8 2 10 | 104t
16 | fu/h mIF MYCARS INTREPID 2 |261 11| 561 6 (362 10 29 31iL
17 | 8@ Hth TSR CRG
18 | EA #2k J7=—F%vyX INTREPID
19 f=2L IJ7=—F%vX CRG 2 2 4 184
20 | FEHEH TSR ARROW 0 0 | 22fix
21 | ¥kFF ARk RST+HYF Y</N |41 8 2 0 10 | 104z
23 | tHM BRE TSR </\N |54 6 6 154
26 | JRH X RSTHYF /N 2 2 2 2 8 1241
27 55 RSTHYF CRG
32 | A —E | NMHIL-UUIF-L ELJL 2 441 8 2 2 14 611
33 [ JIIA B [RSTHYFHIWMILUR| TONY 2 0 2 2 6 154
34 | i &KX J7=—F%vX ELIL 2 2 2 2 8 124
37 | BRIE BEX RSTHYF INTREPID 2 2 | 20fi
44 | R =iE | nhIL=u) -4 ELIL 0 0 | 22{1
45 | FoK #ht | nvhIL-Y09'F-L | ARROW

RAVEER Lthics £B#
165 12 AEE HER

261 11

3%z 10

44 8

5 6

6l 4

SEE 2

YRAT7 EHEEXIE O
~&m =R

SEEBRAVMITRUTORERICEZAONDIRAVETY
L~ DIERARA VM LR E L TREERAVIDAELZDRTEHYF L ADTITEE S,



